Another method of encoding a message is to use a table to rearrange the characters of the message, i.e. by putting the message into the table in one way and then extracting the message from the table in a different way.  To decode a message just reverse the process.  You need to decode a message using a technique that involves at table. You enter the message to decode in a table going down the columns, you read the message by going across the rows.

Write a program to put words into the form of a table that is 4 columns across and 6 rows deep.  The characters should be entered by filling column one and then column 2 and then column 3 and finally column 4.  Unused cells at the end can be left blank. The decoded message can be read by reading across row 1 and then row two and then row three etc.  Note that the message comes out as one long string (with the spaces from the input embedded), the program does not insert spaces between words.

Example: 
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When read you see:  STARTHEREGOANYWHERE
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